H & 0l & AHS B Ml A

SA: AR =X

M HREXST(ME=X/ ol - HAd)

SRl IS AIEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Arel S X110t 112,967,987 96,140,177 16,827,810
= 67,061,157
[ 1,987,898
Il 1,865,067
< 6,917,287
Al 35,136,588
ZE2ENSH(MEISR/ ol - HAad) 91,520, 146 74,806,351 16,713,795
= 59,423,313
s 1,987,898
Il 282,939
= 5,225,242
Al 24,600,754
LOISK AEEE 350,000 1,500,000 21,150,000
LOISNAIE & & FA2 350,000 0 350,000
401 AIZHIX S0HH 350,000 0 350,000
01 AlZH| 360,000 0 350,000
O &8 Lol2s s3I €1 350,000
=X AL 22 155,000 120,000 35,000
EfAIZ SHEE AESRE & ddds XNJ 45,000 80,000 /35,000
301 2= 45,000 80,000 A35,000
03 A 2E A2 (XILTHH) 45,000 80,000 235,000
O FANEE=ERE 22,500
O =t&&ed=s 22,500
CHEAME 2SI 110,000 40,000 70,000
201 fer23y| 15,000 15,000 0
01 AtR2t2|HI 10,000 10,000 0
O EAZAAME 4223 78 10,000
02 s3=gHl 5,000 5,000 0
O EAZAdAE HMSu= 5,000
401 Al HIZL S 0HYI 95,000 25,000 70,000
01 Al&HI 95,000 25,000 70,000
O HAAE LSAE B 95,000
OIS XA 2E 10,386,016 10,936,081 A550,065
= 291,400
= 1,693,964
= 1,720,157
Al 6,680,495
COIMEAIY 2R (E) 3,582,522 3,847,618 A265,096
== 1,191,261
Al 2,391,261
301 22N 3,582,522 3,847,618 A265,096
< 1,191,261




2A:

Ar2l = X 2t

M AZESXNSA(MEEX/ Ll - HAE)
e EeIsXAlE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,391,261
02 A EEHS(FIANE, XLTHE) 3,582,522 3,847,618 A265,096
O ANEs0 2,382,522
s 1,191,261
Al 1,191,261
O MIt=™ 1,200,000
MIH=XAE 2S 107,120 107,120
201 Ler23| 4,620 4,620
01 At2teltl 4,620 4,620
O ?123 g4=g 4,620
— LOISIEESNHIA Y3 F4xH
70,0002 x4 x123] 3,360
— & EA 22012 XE &AM
g 70,0003 x3E *62] 1,260
202 04l 2,500 2,500
01 =LHAHI 2,500 2,500
O Lo=XAE B 2,500
307 gl2to| & 100,000 100,000
05 212+ =S 100,000 100,000
O SAHMI=QISXME 2I2t9& 2 100,000
F2E HEs R MSS 46,500 1,056,250 A1,009,750
202 04| 2,500 2,250 250
01 =LHOLI 2,500 2,250 250
O 324 ANERA SR0 2,500
401 Al HIZL 2018 44,000 1,064,000 1,010,000
01 Al&H| 40,000 1,050,000 21,010,000
O NREe| =29 M= 40,000
03 AIZ 2 THYI 4,000 4,000 0
O A4 =0HYI 4,000
424 29| XE(%) 820,739 675,530 145,209
== 164,148
Al 656,591
307 212+01& 820,739 675,530 145,209
< 164,148
Al 656,591
10 Al SXAEEHE2EHI 22X 820,739 675,530 145,209
O 32 2FHI(2410H2) 820,739
= 164,148
Al 656,591
ded =gl Xd 86,320 86,040 280
201 fet= 3| 28,000 28,200 A200
01 AtR2t2|HI 18,000 18,200 A200




SA: ABI=XID
M AZESXNSA(MEEX/ Ll - HAE)
e EeIsXAlE 2 (Gt H2)
SA - ZE - B2(30) - HRA - B of v G o HIDE2
O kellz 7= 18,000
2 s5=34l 10,000 10,000 0
O Z2Y &=+ 23(70%) X 10,000
307 @I2t0| & 58,320 57,840 480
10 Al SXA2EE 22X 58,320 57,840 480
O d2¢ daldl A 58,320
d2Y=s =238l N 29,200 21,600 7,600
307 212+01& 29,200 21,600 7,600
10 AlRISTIAIEEE 22X 29,200 21,600 7,600
O dz2d sHsEs 234 29,200
J2E oty & 234l X (1) 582,800 514,208 68,592
= 291,400
[ 87,420
Al 203,980
307 glztol & 582,800 514,208 68,592
= 291,400
== 87,420
Al 203,980
10 AlRIS XA EEE 22X 582,800 514,208 68,592
O 32g oty & =8| X2 (241002) 582,800
= 291,400
= 87,420
Al 203,980
ALIGIZEE 292 350,000 350,000 0
307 212+01& 360,000 350,000
10 Al2ISTIAIEEE2HIEX 350,000 350,000
O &FAILINEE 2g8X2 350,000
o=k 2 1,265,000 1,298,000 233,000
307 elztol & 1,265,000 1,265,000 0
05 21t =S 1,265,000 1,265,000 0
O kel=si2 24 693,000
O EAoISsA2 28 572,000
LOIEXIAIE EAA EXE XR(E) 468,930 374,040 94,890
< 93,786
Al 375,144
307 212+01& 468,930 374,040 94,890
& 93,786
Al 375,144
10 Al SXAEEHE2EHI2x 468,930 374,040 94,890
O LeISXAIE SAL SX=E X2 468,930
= 93,786
Al 375,144




SA: ABI=XID

M AZESXNSA(MEEX/ Ll - HAE)

e EeIsXAlE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LOISRDI2 BAK HRME=EH(E) 16,200 12,600 2,600

= 3,040
Al 12,160
307 el2to| & 15,200 12,600 2,600
= 3,040
Al 12,160
1 AMISXAIEEXS 15,200 12,600 2,600
O LS SAEL M2 +g K& 15,200
s 3,040
Al 12,160
LESLO YAAEES 1,800 2,000 A200
307 glztol & 1,800 2,000 A200
11 AMEISXIAEEES 1,800 2,000 A200
O REZL0 JAAE2SH| 1,800
COISNAIE sZHe K& 50,000 50,000 0
402 212t X+=01 & 50,000 50,000
01 QI XHZ AL E R (KEHITHE) 50,000 50,000
O L=XAIE el A& 50,000
Lot EESMEIA 29 XJ(=1) 2,407,605 2,191,075 216,530
[ 1,685,324
= 144,454
Al 577,827
307 el2to| & 2,407,605 2,191,075 216,530
[ 1,685,324
= 144,454
Al 577,827
11 AMEISXAIEEE 2,407,605 2,191,075 216,530
O LoidsssAtlA 29 T3 2,407,605
= 1,685,324
[ 144,454
Al 577,827
LolsX2 g (%) 40,000 0 40,000
= 20,000
Al 20,000
402 I2FX=01 & 40,000 0 40,000
S 20,000
Al 20,000
02 RIENZASEZ(0IETHR) 40,000 0 40,000
O LelsK2 Mg X 40,000
== 20,000
Al 20,000
SEAl MRZSKIAE SAR SX=E 100,000 0 100,000




2A:

Ar2l = X 2t

M AZESXNSA(MEEX/ Ll - HAE)
e EeIsXAlE 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 100,000 100,000
11 AMEISXAEEES 100,000 100,000
O &&A ARISXIAIE SAA S X+ 100,000
SSHYE(s3H) 23 350,000 350,000 0
308 AXIHSO0IA 360,000 350,000
07 HXHH 2L RES 360,000 350,000
O ss3t8y¥(s3d) 29 350,000
I |I|2 EIIAE X1 X (22) 17,280 0 17,280
[ 8,640
= 6,048
Al 2,592
307 @120l & 17,280 0 17,280
[ 8,640
= 6,048
Al 2,592
11 AMEISXAIEEXS 17,280 0 17,280
O ZJI22I|2t 8IIAE X & 17,280
= 8,640
& 6,048
Al 2,592
LOISXl detzg 5,000 5,000
201 er23| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
O Le=IAME E2HI S 5,000
SAHIEX2 25 NA(E) 20,000 0 20,000
== 10,000
Al 10,000
402 2I2E X201 & 20,000 0 20,000
< 10,000
Al 10,000
02 QI X2 AL EE(OIHTHE) 20,000 0 20,000
O Eiei=Xa =28 N 20,000
= 10,000
Al 10,000
429 SJIEEI| € 4yl Rzl 40,000 0 40,000
201 fet= 3| 40,000 40,000
01 AtR2t2|HI 40,000 40,000
O SI1F8J| & dtdl |Xl2cld] 40,000
oSS 519,473 497,860 21,613
< 2,646
Al 516,827
oldole &AL X2 105,000 100,000 5,000




2A:

X XH -
o=

Ar2l = X 2t

2SS (ASI S/ 0 -

el elssid (St &)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
307 lztol & 105,000 100,000 5,000
11 AMEISXAEEES 105,000 100,000 5,000
O OB0le AR X 105,000
JIEF =QIBAF HOIXIE 68,608 29,360 39,248
307 gl2to| & 68,608 29,360 39,248
1 AMISXAIEEXS 68,608 29,360 39,248
O dH=H XNE 50,000
O EoIXNEA W= A= 13,408
O HZEXS D8 Az O
3l X2 5,200
LoI=DIs fIEs 2Y 1,000 500 500
201 er2 3| 1,000 500 500
01 AtR2t2|HI 1,000 500 500
O LeI=iDI=s #22 f 1,000
LoltHs 23(%) 13,230 12,600 630
== 2,646
Al 10,584
307 212+01& 13,230 12,600 630
< 2,646
Al 10,584
11 AMEISXAEEE 13,230 12,600 630
O oltysr 24 13,230
= 2,646
Al 10,584
coltHst 29 15,450 14,000 1,450
307 @120l & 16,450 14,000 1,450
1 AMISXAIEEX 15,450 14,000 1,450
O oltisr 28 A 15,450
ol M SeAME XA 148,785 114,000 34,785
203 gF=4| 2,000 2,000 0
03 A=A 2= 2,000 2,000 0
O L=sNsd d2= 2,000
307 elztol & 146,785 112,000 34,785
10 Al SXIAIE2EHE 2 134,785 100,000 34,785
O Lo=sXsd 23] 134,785
1 AMEISXAIEEXS 12,000 12,000 0
O oltisrd 28 Xd 12,000
ANSSAK =2 28 Ns 167,400 167,400 0
301 EtE NS 167,400 167,400
14 0Bt 2a s 167,400 167,400
O NYSAXER &=t 167,400
— SHS=E3 g3t 21,600




2A:

Ar2l = X 2t

M AZESXNSA(MEEX/ Ll - HAE)
chelr LolasXIe (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| - #=g gsy 145,800
LolAS - AKX 78,707,991 60,406,633 18,301,358
= 59,131,913
= 293,934
Il 282,939
= 3,439,664
Al 15,559,541
SHCSSHHL SSANAYNHIA 2SR (A 68,100 68,100 0
bl)
307 gl2to| & 68,100 68,100
1 AMISXAIEEXS 68,100 68,100
O SAHL Ss2cRAE S| 68,100
SHCQISS YL SSHNLHANHIA 2SR (012 587,869 445,756 142,113
24941)(=212)
= 293,934
= 58,787
Al 235,148
307 @I2t01 & 587,869 445,7% 142,113
[ 293,934
= 58,787
Al 235,148
1 AMEISXAIEEXS 587,869 445,7% 142,113
O SHEUSSHM SSAHLE AL~
2SN 587,869
[ 293,934
= 58,787
Al 235,148
S0l (&) 6,000 9,600 A3,600
s 1,200
Al 4,800
301 EtE NS 6,000 9,600 A3,600
[ 1,200
Al 4,800
02 AR 2EH 2GS (HAAS, NWE) 6,000 0 6,000
O gkl 6,000
= 1,200
Al 4,800
Lolgitiel 2 AlElESE XIR(=1) 23,418,716 11,668,006 11,750,710
= 11,709,358
== 2,223,552
Al 9,485,806
307 elztol & 23,418,716 11,668,006 11,750,710
= 11,709,358
& 2,223,552

-
|




SA: ABI=XID
M AZESXNSA(MEEX/ Ll - HAE)
Celr ZoIAS - MK (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 9,485,806
11 AMEISXAEEXS 23,418,716 11,668,006 11,750,710
O eolgiiel & At2lgs N3AY 23,418,716
= 11,709,358
= 2,223,552
Al 9,485,806
Colgittel 2 ASIEES KIRFAIS(E) 40,000 0 40,000
=S 20,000
Al 20,000
402 2I2F X201 & 40,000 0 40,000
< 20,000
Al 20,000
02 QI TH2AILEE (01X THE) 40,000 0 40,000
O &FHAILI0ZE HEX2 40,000
= 20,000
Al 20,000
colgiiel & Atelgs K& 189,500 99,000 90,500
307 el2to| & 189,500 99,000 90,500
1 AMEISXAIEEXS 189,500 99,000 90,500
O AMIIMHIAS (LeHdtL 4HA) 22 X
el 80,000
O ASIMHIAE (22 X2 Xd) 28 X 60,000
O MEIMBIAE (OIS SEESHH) 29 X
& 20,000
O AMEE O 414) Meels QI2iH] X2 29,500
d2AE Rasa NE 250,000 250,000
307 @120l & 250,000 250,000
11 AMISXAIEEX 250,000 250,000
O d2Ad g4z & 24| 250,000
Jl=¢=z X=(21) 52,691,728 46,661,943 6,029,785
= 47,422,555
=S 1,063,835
Al 4,215,338
301 LEtE NS 52,691,728 46,661,943 6,029,785
= 47,422,555
= 1,063,835
Al 4,215,338
01 Al EE A S (2 RDEXMA) 52,691,728 46,661,943 6,029,785
(ORPJES = INI=) 52,691,728
= 47,422,555
= 1,053,835
Al 4,215,338
NASHOH-Cl AAE XI& 225,000 200,000 25,000




2A:

Ar2l = X 2t

M. H2E2XSE(AIZEX/ Lol - HAH)
oelr LolAas - MAXA (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 225,000 200,000 25,000
11 AR SXAMEEER 225,000 200,000 25,000
O HAS TIt=Ql AANE 225,000
Hzd 22 Xa 200,000 150,000 50,000
301 LPENF 200,000 150,000 50,000
02 NBIEZESGS(HAAS, RLTHA) 200,000 0 200,000
O za LY 200,000
24l ==l X2 112,500 112,500 0
201 Let23H| 2,500 2,500
01 AtR2elt] 2,500 2,500
O ==0123 M 2,500
301 LBBENSZ 110,000 110,000 0
P2 A BEHHZ(HAHS, NYHA) 110,000 0 110,000
O zdl ==d| K& 110,000
SHLo d=2H 22 10,000 10,000 0
201 B2 AY| 10,000 10,000
02 SE==29| 10,000 10,000
O SHEol dH=aH RAl2a 10,000
100MIAICH HH2A8IL X2 AFE(=21) 565,878 646,928 A81,050
| 282,939
Al 282,939
307 QIZ2t01 A 565,878 646,928 A81,050
| 282,939
Al 282,939
11 AL SXAMEEER 565,878 646,928 281,050
O 100MIAICH HEALR2IA (BLESE) 565,878
| 282,939
Al 282,939
100MIAICH 281 Xt2] X (%) 2,400 2,400 0
T 1,200
Al 1,200
307 2I2+01 ™ 2,400 2,400 0
= 1,200
Al 1,200
11 AR SXAMEE R 2,400 2,400 0
O 100MIAICH HHEALXI2IAI (FIEE) 2,400
& 1,200
Al 1,200
Lol Jolg )| K& 5,000 5,000 0
301 LPENZ 5,000 5,000 0
02 AISIBEESHS(FHUHS, NYME) 5,000 0 5,000
O Lol golg 2a)| XA 5,000




S AEI=XI
Ha: H2ENSH(AEZN/ S0 - HAW)

[ e iyl

Selr LoIAS - MK (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSMHIA BAL BSE2X(E) 192,600 77,400 115,200

= 57,780

Al 134,820
307 el2to| & 192,600 77,400 115,200

= 57,780

Al 134,820
1 AMISXAIEEXS 192,600 77,400 115,200

O SSANHIA SAK 2€S2X 192,600

s 57,780

Al 134,820
SSAHIA SM ML= 35,000 0 35,000
307 212t01™ 35,000 0 35,000
11 AMEISXIAEEES 35,000 0 35,000

O SSAMHIA SAR HRMES=E 35,000
Hzdl ADE SsAHIA X 30,000 0 30,000
301 EtE N = 30,000 0 30,000
02 A2 XSG (FHAAHS, NSWE) 30,000 0 30,000

O ozal A0LE SsAHIA X3 30,000
2 HASHAMHA 2 XY (E) 77,700 0 77,700

== 23,310

Al 54,390
307 212+01& 77,700 0 77,700

< 23,310

Al 54,390
02 LB HAHE L 77,700 0 77,700

O o2d gEAsdAHA~ 28 X3 77,700

= 23,310

Al 54,390
2B 29 806,790 947,525 N140,735
=EIZE RAl2el 262,790 319,525 £\B6,735
201 fet= 3| 98,790 147,700 /48,910
01 AtR2t2lHl 77,940 57,160 20,780

O 23 2901 31, JIHE 5) 8

2 Az 5,000

O F2E& SHOIX FA2eldl 3,300

O RoBH E4 € IV 72 8,000

O dTZH MEIA =8 14,400

O g2 LT 9,240

O 2%, 2t S LX) 10,000

O 224 28 N& 22,000

— 28 IS 2l 12,000

— 28 dHl !F4| 5,000

_10_
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2A:

Ar2l = X 2t

M AZESXNSA(MEEX/ Ll - HAE)
ool H2E 243 A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 48,200
Al 192,800
11 AMEISXAEEES 241,000 106,200 134,800
O gd=z4g 28 23 & 241,000
= 48,200
Al 192,800
d2g T2 29H| A=A 24,000 22,200 1,800
307 @I2t01 & 24,000 22,200 1,800
1 AMISXAIEEX 24,000 22,200 1,800
O Zz2g T2 2Hs A& 24,000
d2Y #slZzigae|it Na(%) 72,876 63,852 9,024
== 14,575
Al 58,301
307 glztol & 72,876 63,852 9,024
= 14,575
Al 58,301
10 Al SXAAEEHE 22X 72,876 63,852 9,024
O 32Y =zlzzJdzel i XA 72,876
= 14,575
Al 58,301
22Y = ZZd&elX XN 7,000 6,000 1,000
307 @I2t01 & 7,000 6,000 1,000
10 Al2ISTIAEEE2HIEX 7,000 6,000 1,000
O Z2g=s|lZzzgae|i ESIHI 7,000
CoIAYSE & HE5 K& 250,000 200,000 50,000
402 QI+ X201 & 250,000 200,000 50,000
01 QI X2 AL E A (KEMI THE) 250,000 200,000 50,000
d2E =23 NE A 250,000
04 - IE=EXNESH(MIEX/ES - IIELAHA) 3,855,598 5,684,881 1,829,283
= 805,862
) 1,307,942
< 383,321
Al 1,358,473
GESPS RPN 105,780 131,132 N25,352
= 990
Al 104,790
e 23580 X2 4,500 4,500
202 04t 2,500 2,500
01 =LHOHI 2,500 2,500
O KdEAL EFFZ 2,500
301 Eet2 NS 2,000 2,000
11 #AIAHIXIE S 2,000 2,000
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KIO

Hlw

A23,000

2,668
2,668
2,668

223,000
A23,000

AT7,000

HMEE
Ofl &k2h

48,300
16,300
16,300

32,000
32,000
35,332
35,332
35,332

43,000
8,000
8,000

Ofl &F2H

2,000

25,300

16,300
16,300

12,000
2,100
2,200
9,000
9,000
9,000

38,000

38,000

38,000

38,000

36,000

8,000
8,000
5,000
2,000

- HyS

- SRA(3) - HIRAEY

S - B

x
_x_”_

0
ok

OF

70

01 AFR2t2ltl

60

2|

=
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H
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o
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=

H

P
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Ho
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Ol

11 Ak

O

307 212t01™
307 212+01™

SA XE

i
®)
0

01 AtR2telbl

ol

10,000
10,000
3,000
3,000
1,980
1,980

2,000
2,000
3,000
3,000

30,000
30,000

1,000
2,000
2,000
2,000
3,000
3,000
3,000
20,000
20,000
20,000
3,000
3,000
3,000
1,980
990
990
1,980
990
990
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SA: ASI=XID
M o4 - BRSNS (MEI=EX/ES - IIELAHE)
chel: OlE AN (erel:
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 1,980 0 1,980
O aatEd AldZAS 25 =8 1,980
= 990
Al 990
HAS AL 254,235 267,016 N12,781
Il 92,030
= 57,770
Al 104,435
JHEEZZTchAt Xl X (21) 500 500 0
) 350
= 75
Al 75
301 EtE NS 500 500 0
Jl 350
== 75
Al 75
01 AR 2EHSHS(RNEXRTH) 500 500 0
O JHE=H Lokt 2 =4 500
Jl 350
=S 75
Al 75
AZ3 [GHA ASHIRIEH X3 (21) 1,000 1,000 0
2l 700
=S 150
Al 150
301 EtE NS 1,000 1,000 0
Jl 700
= 150
Al 150
01 Al EE A S (2 RDEXA) 1,000 1,000 0
O =% LlollAt 2=l 1,000
Il 700
= 150
Al 150
I ZALEZHSEAEA 2E(210) 181,960 170,308 11,652
Jl 90,980
= 45,490
Al 45,490
307 el2tol & 181,960 170,308 11,652
Il 90,980
< 45,490
Al 45,490
10 Al2IS XA E 22X 181,960 170,308 11,652
— 14 —
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SA: AR =X
M o - IIESKST(AEEX/ES - IIELAHY)

el JIESISH EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
301 LPBNZ 907,648 825,598 82,050
| 726,110
T 90,769
Al 90,769
01 Al B&X2HZ2(2REETA) 907,648 825,598 82,050
O MAS stRR2IIE otsY=Hl & X 07,648
| 726,110
T 90,769
Al 90,769
HAas st X 6,000 6,000 0
301 LetEHZ 6,000 6,000 0
02 MBI EEHHS2(HAAS, XLTHEA) 6,000 0 6,000
O ZSSEM 25t ZH| X2 6,000
MNAS StE2IHE MEOHF2(Z) 37,100 99,750 AB2,650
& 7,420
Al 29,680
301 LPENF 37,100 99,750 A62,650
T 7,420
Al 29,680
02 MBI 2EA>HS(HUAHS, NSTHA) 37,100 99,750 262,650
O NAS SIR2MEAXA 37,100
T 7,420
Al 29,680
HAESED XS (=21) 13,611 11,193 2,418
| 10,889
T 1,361
Al 1,361
301 LetEHZ 13,611 11,193 2,418
| 10,889
T 1,361
Al 1,361
01 AISIBE X 2GS (2 LEXTME) 13,611 11,193 2,418
O FAEs28 e 13,611
| 10,889
& 1,361
Al 1,361
JIEdEH 29(=21) 654,076 389,120 264,956
| 327,038
& 65,407
Al 261,631
307 212+01™ 654,076 389,120 264,956
J| 327,038
& 65,407




SA: ASI=XID
M o4 - IIESNIST(ME=EX/ES - IIELAHE)
el JIESAS (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 261,631
05 212t =S 654,076 389,120 264,956
O JIFdH SEAEIA XA 271,700
Il 135,850
= 27,170
Al 108,680
O U2tuFzLSSt 24 44,900
Il 22,450
= 4,490
Al 17,960
O Fef- 20 S 172,950
Jl 86,475
= 17,295
Al 69,180
O G238 Ity K& 164,526
Jl 82,263
= 16,452
Al 65,811
JIEdE 28 121,357 181,257 59,900
307 gl2to| & 121,357 181,257 /59,900
05 212t =S 121,357 181,257 /59,900
O JI=HH 29 100,000
O JEHH SAA AlZb2l=E 21,357
= X X (%) 40,000 0 40,000
S 20,000
Al 20,000
402 2I2F X201 & 40,000 0 40,000
= 20,000
Al 20,000
02 QI X2 AL E R (01X THE) 40,000 0 40,000
O Jt=dE XHEXE 40,000
S 20,000
Al 20,000
otolss N (21) 1,146,946 1,068,507 78,439
= 802,862
= 68,817
Al 215,267
301 EetE NS 711,106 780,887 69,781
= 497,774
= 42,666
Al 170,666
01 Al EE A S (2 REXMR) 711,106 780,887 A\69,781
O Otol== 3FXNE= 711,106




SA: AR =X
M o - IIESKST(AEEX/ES - IIELAHY)

el JIESAS (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 497,774
T 42,666
Al 170,666
307 QIZ2t01 A 435,840 287,620 148,220
= 305,088
T 26,151
Al 104,601
11 Al =SXAMEES 435,840 287,620 148,220
O ool== 2% 2X= 435,840
= 305,088
& 26,151
Al 104,601
orol=s XA 4,427 4,427 0
307 2Iz2+0l™ 4,427 4,427
11 A EXAIEE X 4,427 4,427
O otol== KA (AlI2ELI4=) 4,427
SSR0ILIsSH 29(=1) 113,424 82,792 30,632
| 56,712
T 28,356
Al 28,356
307 QIZ2t01A 113,424 82,792 30,632
| 56,712
& 28,356
Al 28,356
11 AL =SXAMEES 113,424 82,792 30,632
O BSE0LsH 2Ma 113,424
| 56,712
& 28,356
Al 28,356
S=sR0tU=sH 29 3,512 3,512 0
307 212+01™ 3,512 3,512
11 Al =SXAMEES 3,512 3,512
O 3SE0L=sH 22 XA (A2l
&) 3,612
Ch23hts sXISd 45,400 95,400 250,000
201 L2 AH| 3,400 3,400 0
01 AtR2elt] 3,400 3,400 0
O U= JAY Let23| 1,000
O O=EXE s 3o &as-Y
70,0003 *10Z +23 1,400
O UIRSPIIEXNE2S glokis & S
SNBSS 500,000 *23| 1,000
202 0idl 2,000 2,000 0
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2A: A=
B 04 JIEENET(MEZX/2S - ISL0IA)
el JIESISH EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =WO4bI 2,000 2,000 0
O UEZIIEXJAY 28 2,000
301 LPENZ 40,000 75,000 235,000
14 J|EtE A2 40,000 0 40,000
O OUEHE neree K& 40,000
MIIEXIAE SAR X2(%) 44,040 39,600 4,440
T 8,808
Al 35,232
307 QIZ2t01 A 44,040 39,600 4,440
= 8,808
Al 35,232
10 IS SXAIEHE2ZHIEX 44,040 39,600 4,440
O MISXIAE SAL =XK< 44,040
& 8,808
Al 35,232
L3 IHE=EIRIE 25 (%) 15,840 23,280 AT,440
T 3,168
Al 12,672
301 LB F 15,840 23,280 AT,440
= 3,168
Al 12,672
02 MBI BEHH2(HUAS, NLTHEA) 15,840 23,280 AT,440
O Zat=zs=sie 25 N 15,840
= 3,168
Al 12,672
CEStEIE 820 sSXXE (%) 12,768 14,280 A1,512
& 2,554
Al 10,214
307 212+01™ 12,768 14,280 A1,512
T 2,554
Al 10,214
11 AMSISXAEEX 12,768 14,280 21,512
O UsEXE st=20 g2ersil X
A 12,768
= 2,554
Al 10,214
CI2st SStAg(=1) 190,326 179,733 10,593
J| 95,163
= 19,033
Al 76,130
307 2I2+01A 190,326 179,733 10,593
| 95,163
T 19,033




SA: ASI=XID
M o4 - IIESNIST(ME=EX/ES - IIELAHE)
el JIESXsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 76,130
11 AMEISXAEEXS 190,326 179,733 10,593
O U2=PIE SE2usA8lA X3 100,136
Il 50,068
= 10,014
Al 40,054
O ZE012k SHAMEIA X2 34,100
Il 17,050
= 3,410
Al 13,640
O U2=bE HEA0ZE X2 40,590
Jl 20,295
= 4,059
Al 16,236
O Z2E0/2X ASLSXE (B =0 1F) 15,500
Jl 7,750
= 1,550
Al 6,200
CHE2st SatA 3,768 3,768
307 gl2to| & 3,768 3,768
1 AMEISXAIEEXS 3,768 3,768
O U2EESAIG (A=) 3,768
=0l =S4 A0 20,000 20,000 0
307 212+01™ 20,000 20,000
11 AMRISXAEEES 20,000 20,000
O =0l dsaE 40| 20,000
Aol & J1E=At FIHE) 4,000 4,000 0
= 800
Al 3,200
307 elztol & 4,000 4,000 0
= 800
Al 3,200
11 AMEISXAEEXS 4,000 4,000 0
O HMAISl & JIS&A Ot 4,000
s 800
Al 3,200
CIESIE LAR2uSAEA HSHE(E) 6,140 6,140 0
& 1,228
Al 4,912
307 lztol & 6,140 6,140 0
= 1,228
Al 4,912
1 AMEISXAIEES 6,140 6,140 0




2A:

X XH -
o=

Ar2l = X 2t
A - JIIEEXNEX(AEEX/E] - IHIELHE)

el JIESXsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O E2USXNEA MM 6,140
= 1,228
Al 4,912
ZE0IDIN &5 HEZ AH(E) 3,200 4,000 A800
=S 640
Al 2,560
307 21201 & 3,200 4,000 A800
S 640
Al 2,560
11 AMEISXAEEES 3,200 4,000 A800
O Ze012kt &5 HEH A 3,200
S 640
Al 2,560
HAUSED ots2=sHl XA (21) 6,000 7,200 21,200
= 3,000
S 600
Al 2,400
301 EtE NS 6,000 7,200 21,200
= 3,000
S 600
Al 2,400
01 AR 2EHSHS(RDNEXRTH) 6.000 7,200 1,200
O EAHRR Ots2=dl K& 6,000
= 3,000
=S 600
Al 2,400
OlOIS 20l MMH XJ(nSHl X=S)(&E) 18,000 0 18,000
& 3,600
Al 14,400
307 lztol & 18,000 0 18,000
= 3,600
Al 14,400
11 AMEISXAIEEXS 18,000 0 18,000
O OlOISE0I MRHE X (RSHIXZ) 18,000
= 3,600
Al 14,400
CHAHAOHE OtsSXI& 10,000 35,000 A25,000
[ 2,000
Al 8,000
SIHoH tHEtsS3 X3 (%) 10,000 35,000 /25,000
= 2,000
Al 8,000
301 LEtE NS 10,000 356,000 225,000
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D ARSI

DAY BES 2 SH(AEISEX
AU ES 2 s AY (St &)
SA - BE - GI(3H) - NRAR - BA A SimE==t
Al 27,854
201 Ler2 | 50,400 44,400 6,000
| 25,200
& 12,600
Al 12,600
01 Ar2eltl 50,400 44,400 6,000
O oztuiol2gyl & 44,000
J| 22,000
= 11,000
Al 11,000
O optaitl2g HAX 6,400
J| 3,200
= 1,600
Al 1,600
206 =8l 9,876 8,000 1,876
J| 4,938
= 2,469
Al 2,469
01 M=l 9,876 8,000 1,876
O Ooiztdiol 228 M= 9,876
| 4,938
= 2,469
Al 2,469
301 LetENEZ 51,142 51,142 0
| 25,571
= 12,786
Al 12,785
11 HALAHIXIEZ 51,142 51,142 0
O OL3tOIol &0 EAE ! 51,142
| 25,571
= 12,786
Al 12,785
AU 2= O30l RI& A 15,000 15,000 0
201 B2 AL| 5,000 5,000
01 ArR222ltl 5,000 5,000
O ZIt= O3t ZAt 4,000
O ¢t optdiol 22 1,000
206 =4l 10,000 10,000
01 =4I 10,000 10,000
O gt= otztolol 2<¥ M=d 10,000
LAY BARAMNEE X2 39,000 39,000 0
= 19,500
& 3,900
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SR E S
¥ F2d 25 9 SFY(M=N/2 - 34H)
el HAd 25 2 25 MY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 32,542 30,824 1,718
Jl 16,271
Al 16,271
05 212t =S 32,542 30,824 1,718
O Ead S T2 2 32,542
) 16,271
Al 16,271
BEHSE X MA(E) 10,200 15,000 4,800
< 4,080
Al 6,120
301 2PEN=S 10,200 15,000 4,800
& 4,080
Al 6.120
02 A2 EH 2GS (FHAAHS, W) 10,200 0 10,200
O B=g+4 XE 10,200
= 4,080
Al 6,120
ZMEXNAME 2SI 40,000 40,000 0
201 fer= 3| 20,000 20,000
01 At 2|l 20,000 20,000
O ZZHEHH 23 20,000
206 M=Hl 20,000 20,000
01 MHZH| 20,000 20,000
O MZHMEHE H=HI 20,000
HAHE 23 HSAL 2L 20,000 0 20,000
307 elztol & 20,000 20,000
1 AMEISXAEEES 20,000 20,000
O Ead 23 NSA 28 20,000
BAEAE &5 - 2l 1,358,952 1,153,067 205,885
Il 51,000
= 4,440
Al 1,308,512
FA4HE =2 29 489,540 329,208 160,332
201 er23| 248,080 242,208 5,872
01 AtR2t2|HI 115,736 113,764 1,972
O SAEBA S 228 72
850,000 *62 5,100
O 28 =&Y
1,000,000 22 2,000
O AIREHl |Xil 750,000 %42 3,000
Otlz+s= 120,000 #4323 480
O st&Eadid gxtz
23,000 =201 = 1204 & 552
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SA: AR =X

I HAd 85 U 24

Clol: HAUAA 25 - 22 (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 3D Xtz 45,000 5CH+12J0 2 2,700
O EE2(EEMT S) M= 5,000
O s8I & d&4 42378
500,000 *42] 2,000
O M=gs 223 72
1,000,000& 22 2,000
O iy gh==)| SHI0IE
30,000& %123 360
O Z2Iy ALY 72,360
O +ei2s Deluey AQE DY
1,250,000 *42] 5,000
O &2l Es ==
745,000« 1200 & 8,940
O 2oAHIRY 442
150,000 * 1204 & 1,800
O AgOINBRIBY 448
185,000 * 1294 & 1,860
O S2IOHBR A 242
132,000& * 12042 1,584
O SHI0IXl RXI2% 1,000
02 s3=gHl 74,144 73,644 500
O AlE= X2l 19,000
O &JIMNE= 3,500,000& *120HE 42,000
O got=k AIER 300,000 1204 2 3,600
O &3t AEZ 100,000 x 1204 2 1,200
O JIet S&582= 150,000 * 1204 & 1,800
O d=28d0Ig= 450,000 = 1200 = 5,400
O EaxdaAlLgalt]
1,000,000 %13 1,000
O Aggstlz 12,0003+ 122 144
03 A= &I 58,200 54,800 3,400
O ZME2ELFEMN & FLETI| =S
DN EEEgs S 2,000
O ®obts Eaxd 2du= 52,800
O Eaxd 28923 =29 2,000
O NEEAEFENHR A 24 1,400
202 04| 2,000 2,000
01 2LHA b 2,000 2,000
O aEssAE g 2,000
206 M=Hl 50,000 50,000
01 MHZH| 50,000 50,000
O Ws=Est 228 2SS
1,000,000 153 15,000
O AEsPD| 228 M|
800,000 %102 8,000

_27_




od
i’
oF
uJ

318 3|8 3|8 3|3 3188 © 18
Sle [T S| B |0 Slele =R
i Ny || g (& — | Slglg ||
E
E=)
el 318 SHES! 818 Q12| 88
® |8 S| S| < S| S
@ | o &8 o |0 8 o
ED = =
uikd
RIS
g8 8 3|88 8|18l 8 8 8 8 8l8I888 8 88838 8|¥ 8|8 8= 88 888 3
(] (@) OO |OC O|®®| O Ye) O O || O O O OB O VI~ |O|OC O |Ww]|w© O o AN O O (<p]
o v oI§|d dF|E - & wA-Iglggoe g gleew g gde — - T eod
Sl N —
3l
<l
S
! I S o om @ il
O - g8 2 9 = = =
* oF * * &0 oF o N o N
o ] w3 E Yox %
o | g 8 g gs55 8 . 85 w w
X0 =1 . > K0 o % 5 ):mnw S S
Y| s « S mrm - Ulo ot - d
: = - 2 =2 2 K 5 & = 8 8w 8
U 5 s of = R DS B
- [ RO R &0 ®_ O _ = i b
= = _ = W 01 MR M D W o . )
= % M D = o 30 — W 0 RO i = - 1]
¥ 5 U = G R I o @ = W oW, o
=l 0 = 0 w & g® V| o o 4 0 ) ¢ w0z
a1 oW o F 0 Wm| | PAA | |5 DA omm M < = + Moo &
= ¥ & = (e RS wmaa a |V e o =~ o & Moo
oF Al | = L w o 1[3] o} 8 | T TR TR ol _|® m m|o = MW .= ) i oo Kk
I N o e L i B B B i N o - o o e O B = = - B S
- = m (W mRND 5=z m omog|ok| . omomomy m | UNW o myer | (M =300 g s RO %0 %0
O DS N ol e e T B (= =y (s (e R N Kol -GG B < =i e L S (=Y I N s
O R g Rl o S B ﬂoﬂ%%ﬂoﬂoﬂomﬂommﬂo%& MY AL = mo w0 A
1O O 0O |5y Olg|l=©0 O 00|55 © 00 Olg|lz ©O0mlzglg ©Plzsls© ©0 000
% SIEN g5 g5 e SIS
Uy A

_28_



SR E S
M HaE 25 2 SH(AESX/2 - FAad)
ol BAEAE 35 - 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O Z2)d IaeE 55,000
O &4 it Sxt 23,0003 20~ 122 552
O FIIQHBRIHRS 442
500,000 * 1274 2 6,000
O AT 42
200,000 = 1204 & 2,400
O S2AIQHBRAYHBY 442
150,000& 1204 & 1,800
O &28 28aRE 7 1,000
02 s3=gHl 34,000 34,020 A0
O Az Xi2el 5,000
O =243 g4 1,500,000& %12 1,500
O dMIRe=s 2,000,000& 123 24,000
O dates 100,000 1204 2 1,200
O JIet s&582= 140,000& 12042 1,680
O EaxdseAld g3
500,000& %12 500
O SK=(Ls) 10,0003 * 12043 120
03 A= I 2,000 2,000 0
O Z4UEsaY A BE8Es S 2,000
202 04| 500 500
01 =LHOLI 500 500
O Eaxgdsidiy 2= 500
206 M=l 38,000 43,400 25,400
01 MZH| 38,000 43,400 A5,400
O WsEst 228 2SUE 18,000
O St 228 2SEME 15,000
OJNZEM T2 2AMS 5,000
301 22N = 8,000 8,000
11 AALEIXIES 8,000 8,000
O ZAHHHI 5,000
O FopI+ 28 & 55E8s 80 3,000
401 AIEHIZ SO 25,000 25,000
01 AlZH| 25,000 25,000
O AHISHHE AIEE 3l 25,000
405 AtaHE = 2,000 3,000 21,000
01 MM ESFH S| 2,000 3,000 21,000
O &z2d8 28 817 2,000
FEFEAEESY 29 131,360 131,360 0
201 Ler23 | 84,860 87,860 23,000
01 At2t2lt] 70,460 73,460 /3,000
O MREIDDIKA(SAD], ZRIEHS)
380,000 %13 380
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A ARRISXID
M HAE BS Y SH(MISK/L0l - HAH)
ol HAGAIE &5 - 2 EEED
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O 3AaEger 2 geEs &30 1,500
401 A& B2 20HL| 10,000 10,000
01 AlEHI 10,000 10,000
O HAUEZSOE ANLES 10,000
405 KHHESHI 5,000 5,000
01 XML =EF S| 5,000 5,000
O #AdE=2sely 24 I+ 5,000
HAE otMA REAI (=) 102,000 100,102 1,898
| 51,000
Al 51,000
307 212+01 A 102,000 100,102 1,898
| 51,000
Al 51,000
05 QIZtRIEIS 102,000 100,102 1,898
O EAUE otd A ALY 102,000
J| 51,000
Al 51,000
oW dE=ENEH 29 252,000 237,929 14,071
307 QIZt01A 252,000 237,929 14,071
05 2I2tRES 252,000 237,929 14,071
O HAHAS=SIHE 2Z(EHER) 252,000
HAUMGET|HE SAIK HRMSE +EHE) 22,200 11,400 10,800
& 4,440
Al 17,760
307 212+01™ 22,200 11,400 10,800
& 4,440
Al 17,760
11 AL =SXAMEES 22,200 11,400 10,800
O FA2EAEEXNEE SALAL MRS 22,200
& 4,440
Al 17,760
ool =X SE(AIESXI/FAHSKIH) 15,036,625 13,371,104 1,665,521
= 6,812,482
= 1,071,469
Al 7,152,674
ZOHeISXIAIE X 4,531,975 4,080,690 451,285
= 649,990
= 177,539
Al 3,704,446
Ol HFAIE 2XA(=1) 927,254 855,732 71,522
= 649,078
= 55,635
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SA: ABIZXID
3 ZOH SA ST(ARISX/FHSAHSKE)
el ZoHI=EXAIE X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 222,541
307 gl2tol & 927,254 885,732 71,522
= 649,078
= 55,635
Al 222,541
05 212t =S 927,254 855,732 71,522
O HoHel AF=AlE 2SH| 927,254
= 649,078
& 55,635
Al 222,541
ZOoHe!l H=FAIE 2SS 123,600 100,000 23,600
307 el2tol & 115,600 100,000 15,600
05 212t =S 115,600 100,000 15,600
O EAZHES A 2128 & 24| X
2 115,600
405 AtatE = 8,000 8,000
01 Tt 2SS F=HI 8,000 8,000
O gEAMEAHESAel 4310 & I3 7Y 8,000
ZOHRIHFAIE 22| Mgeld XJ(%) 25,896 24,360 1,536
= 5,179
Al 20,717
307 elztol & 25,896 24,360 1,536
= 5,179
Al 20,717
05 212t =S 25,896 24,360 1,536
O ZHHMIES Al Ald2e|el X3 25,896
=S 5,179
Al 20,717
O SHOIHFAIE 29 200,000 296,000 296,000
307 elztol & 200,000 296,000 296,000
05 2IZtAE = 200,000 296,000 296,000
O EIIHF=AE 29 200,000
ZOHQ!l =UEBSA(ME) 25 519,020 474,000 45,020
307 elztol & 339,020 334,000 5,020
10 Al SXAAEEHE 22X 299,020 299,000 20
O dt=2gsdy =29 299,020
1 AMISXAIEEXE 40,000 356,000 5,000
O SHFAESHH A 40,000
401 AIEHIZ SR 0HYI 180,000 140,000 40,000
01 Al&HI 180,000 140,000 40,000
O dEF2UESHE AIEWESA 180,000
S0l HE0ISKAAHE 28 293,521 242,000 51,521




2A:

E M

Ar2l = X 2t

ZOHQl =X S (ARISXI/FHAHE

X&)

el ZoHI=EXAIE X2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 252,521 242,000 10,521
10 Al2ISIIAIEEE 22X 252,521 242,000 10,521
O Hoel OISAI2dH 23 252,521
402 2IZtA=01d 41,000 41,000
01 QI X2 AL E R (K TH) 41,000 41,000
O oo OISXEHE Xt 7Y 41,000
FHEAHH 2H 415,609 357,000 58,609
307 @I2t01 & 395,609 357,000 38,609
10 Al2ISTIAEEE2HIEX 395,609 357,000 38,609
O 0S4l 29 395,609
402 QI2F X201 & 20,000 20,000
01 QIZEXHE AL E X (KM T & 20,000 20,000
O =0Sddel xtegk 7Y 20,000
F2oo1Z0Hl (sote!) THXALE 29 199,456 164,000 36,456
307 elzto| & 199,456 164,000 36,456
10 AlISXAAEEHE 22X 199,456 164,000 35,456
O F2loiZoiel(s0te!) X2 HH 2
o 199,456
el ESXHAET 2 702,062 610,700 91,362
307 212+01& 688,062 610,700 77,362
10 Al2ISTIAIEEE 22X 688,062 610,700 77,362
O HHESHIE 2 688,062
401 AlZHIZL SO 14,000 14,000
01 Al&HI 14,000 14,000
O HHAUESHAEH AMLE2 14,000
ANEZHe! HEXNBHE 28 365,481 327,400 38,081
307 gl2to| & 365,481 327,400 38,081
10 MEISXAAEHE2EHIEX 305,715 267,000 38,715
(OIPNESE={U/ IDN=PNF-=Rull= Rp-sges 306,715
11 AR SXAIEE X 59,766 60,400 AB34
O NEZHAXE X2 HE At 59,766
oI =EXAHH 29(%) 60,000 0 60,000
= 30,000
Al 30,000
401 Al HIZL 2018 60,000 0 60,000
= 30,000
Al 30,000
01 A28l 60,000 0 60,000
O ZUUSESNHEH (ZORIE S| 40X
2) 8208 SAt 60,000
== 30,000
Al 30,000




SA: ABIZXID
3 ZOH SA ST(ARISX/FHSAHSKE)
el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZoHeISXIdEH 2 201,451 173,000 28,451
206 M=l 10,000 0 10,000
01 MZH| 10,000 0 10,000
O ZUUSXHEW ot e 2 10,000
307 gl2to| & 171,451 163,000 18,451
10 AlISXAAZEHE 22X 171,451 153,000 18,451
O Zijesg=sndg (S22 29) 171,451
401 AIEHIZ SR OHYI 20,000 20,000
01 Al&HI 20,000 20,000
O Hofel SXHE A2 20,000
ZoHe! SEaEA 2H(%) 151,927 88,837 63,090
= 42,385
Al 109,542
307 elzto| & 11,927 88,837 23,090
= 22,385
Al 89,542
10 AlISXAAEEHE 22X 111,927 88,837 23,090
O Mol Seades 2N 111,927
=S 22,385
Al 89,542
402 2I2E X201 & 40,000 0 40,000
< 20,000
Al 20,000
02 QIZHXHEZ AL E (01X THE) 40,000 0 40,000
O HoHel SEEa M 40,000
= 20,000
Al 20,000
oo SEgasd =24 2,400 2,400
307 @20l & 2,400 2,400
10 AlRISXAEEE 22X 2,400 2,400
O Feseazsd 28N 2,400
ZOHIEHOAIE X HH 22 (%) 54,152 50,438 3,714
< 10,830
Al 43,322
307 elztol & 54,152 50,438 3,714
= 10,830
Al 43,322
10 Al SXAAEEHE 22X 54,152 50,438 3,714
O XHME HAALXZALE 2S 54,152
= 10,830
Al 43,322
AZEOHS! THEHXIMH 2S(%) 38,946 38,946 0




SA: ABIZXID
3 ZOH SA ST(ARISX/FHSAHSKE)
el JOI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,549
Al 30,397
307 lztol & 38,946 38,946 0
= 8,549
Al 30,397
10 Al SXAAEEHE2EHI2x 35,146 35,146 0
O AIZE0HS! HEXJME 29 35,146
= 7,789
Al 27,357
11 ARRIS XA E X 3,800 3,800 0
O &2 Mg 29 3,800
& 760
Al 3,040
SELLUNEXZHH 23 115,480 111,500 3,980
307 elzto| & 115,480 111,500 3,980
10 Al SXAAIEEHE 22X 108,480 104,500 3,980
O g=HMOISLEMEXNZHEH =24 108,480
1 AMISXAIEEXS 7,000 7,000 0
O S8EIYMOISLEM2ANZHE A 7,000
ZOHRISKIAIE BSALL =ZH(Z) 99,600 107,520 AT,920
[ 19,920
Al 79,680
307 elztol & 99,600 107,520 AT,920
S 19,920
Al 79,680
10 Al SXAIEEHE2EHI 22X 99,600 107,520 AT,920
O HHASXAIE SAHAL SX==& 99,600
= 19,920
Al 79,680
ZOHIEXID 12 SAK HRHESLEH(E) 24,600 31,800 AT,200
== 4,920
Al 19,680
307 212+01™ 24,600 31,800 AT7,200
[ 4,920
Al 19,680
10 Al2ISTIAIEEE 22X 24,600 31,800 AT,200
O HoHA=XI12 SAHL MM+ 24,600
= 4,920
Al 19,680
ZOHRIHFAIE SIIFED| g XA(=1) 1,520 3,041 21,521
= 912
= 121
Al 487




2A:
PSER
o e

el

Ar2l = X 2t
ZoHe! =X ST (A SK/HAHSKIH)
U =XAIE K&

S - BE - BI(3) - NRAY - BAS

ol vy

HE
0l &y

307 212t01&

Mo

=

1,520
912
121
487

3,041

O HOHRIA=AIE SIIEED| 6t AIE= X

Mo

1,520

1,520
912
121
487

3,041

1,521

(U]

>
[z
m
g
e
o
toh
>
Q
10
-
]
o

10,000

10,000

10,000

10,000

iz | o
| Ao | J

S
Ok | ne | O
02 | 02

0B
g =

oA
2
o
O
o
Jt
>
=
@
g
|’D
I
ng
>
Q
10
>
sl

10,000

10,000

10,000

hoH

=

5,283,165
3,187,625

304,517
1,791,023

4,269,167

1,013,998

Mo

=

3,209,826
2,246,878
192,590
770,358

2,933,203

276,623

Mo

=

3,209,826
2,246,878
192,590
770,358

2,933,203

276,623

ho

=

3,209,826
3,209,826
2,246,878
192,590
770,358

2,933,203

276,623

Mo

=

34,641
24,279
2,072
8,290

6,946

27,695

o

34,641
24,279
2,072
8,290

6,946

27,695

H

34,641
34,641
24,279

6,946

27,695
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SA: ABIZXID
3 ZOH SA ST(ARISX/FHAHSKE)
SRl oS (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,072
Al 8,290
O AlelEs X 50,000 50,000
307 el2to| & 50,000 50,000
1 AMEISXAIEEXS 50,000 50,000
O el sk = 50,000
LYTHEMEIA HIRH™ XI2(S1) 124,547 124,800 A253
= 87,184
= 7,472
Al 29,891
301 LEtE N = 124,547 124,800 A253
= 87,184
S 7,472
Al 29,891
01 A2 HSFS(RNEERTHE) 124,547 124,800 A253
O H0HOtS L2 MEMEIA AL 124,547
= 87,184
< 7,472
Al 29,891
o EHMoicl=E XY 23 209,579 197,000 12,579
307 elzto| & 209,579 197,000 12,579
10 Al SXAAEEHE 22X 209,579 197,000 12,579
O Z0HQ EXMH cZERE XHH2F 209,579
ool ME7sEs NE (%) 29,700 29,700 0
s 5,940
Al 23,760
301 EtE NS 29,700 29,700 0
< 5,940
Al 23,760
02 MBI 2HHSFHS(HAANS, XLHE) 29,700 29,700 0
O ol alz2= K& 29,700
= 5,940
Al 23,760
ZoHeI=Xl LEe2 101,620 100,300 1,320
201 fer23y| 34,460 33,140 1,320
01 AtR2t2|HI 14,360 12,480 1,880
O AlZtEoHe!l SXt=s ZXAEIA M 1,000
O #ojel SXMEH |FXE+ S 2l 5,000
O ZUU=X4SAAe S+
70,0002 x6H #4353 1,680
O ol gsia=siAa2? 2 A
SRS 70,0002 x2& *123] 1,680




S A= R
o FOjOl =X S (AE=X/FHAHSNR)
ool MBS (e

SA - ZE . BR() - HRAR - BES of v G o HIDE2
O YOHI=Xt1S St & 2 ZoHel
SA 28 28 S2 M 1,000
O ZOHAUXSIHERX MZ 2,000
O mOjIStTiTR B0 L WEHEe
NEEE2=SS M 2,000
2 S5=24g4l 20,100 20,660 2560
O AU EHMOIZIZE RAE+S 3,600
O FA2E0e S| AEZ 1,000
O SSEM f/AX=HI| N2 5,000
O dSENN s8I 1F & EAl |2
= 2l 2,500
O HoH=XIIE LTS 3,000
O Hofel SXMH RAE+ S 2l 5,000
202 048l 4,500 4,500
01 2L AL 4,500 4,500
O HoH=X 22 =8 4,500
301 22N = 42,660 42,660 0
02 ANRI2HHHS(HAAS, NLHE) 42,660 0 42,660
O Al Ee! Az 23 8,400
O Al aFAAK B5 5,760
O HofI=sXA=2 12,000
O Z2FMelalE 16,500
401 Al HIZL R 0HbI 20,000 20,000
01 Al&HI 20,000 20,000
O ZUSXAIE FX2el 20,000
S0l A X W= XA 186,753 175,738 11,015
307 lztol & 186,753 175,738 11,015
A2 SXIAMHE X 186,753 175,738 11,015
O N4zl HoHorel & &= Al JISAL JHA
S 34,700
O Hi443] ZoHelel & BT IS &AL 4
HAEt3l) 1,860
O 202448 A=Al o4 2SS H=/(H
&t3l) 10,000
O 22 ZoH HSLEsHAEIZ(HES]) 5,940
O 23& Zoje! #=LsHALY A5(H
83l) 8,160
O 213 Z3= LEO0H! oibdetll JH5
BIZ(XH) 3,860
O 20243 XNHLEHe S22 JIsZ
3I(XIH) 570
O HMgal 2= L0 SXIU=2184182
A=A 28RBSl Z0H! M=l 3,170
O HMNal &= XXNLLZOHC! SXIHSI&M 1T
3 NRLLHH Ol=H(XIH) 6,550
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2A:

Ar2l = X 2t

3 ZOH SA ST(ARISX/FHAHSKE)
SRl oS (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O HMi27&l OtAIOF XIFEOHITH! (KIH) 11,810
O 2024 O|AERH M= OO0 MAE
ACHSI(XIA) 1,300
O 20248 & MAE HAEIEREH OH0I=
Of MAE 3AHUSI(XH) 1,060
O 20243 MA &= OI0tF0 Az FA
CIONES) 1,060
JEC ZoHe! o= (XIH) 490
O &= ZOoH! ol=HM(XIH) 488
O 23T ZOH JIsZIIHE (KIH) 910
O &= ZoHel JIsZIItHEI(XIH) 1,000
O ZoHe! SHHIZZ(XIH) 6,530
O Zofel gt =2 (XA 700
O Zofe! St ol=E 0I-(XIH) 545
O HO0Hel N&tLHS0l(XIA) 3,400
O 2= NMEOHIel & S#AHKIA) 2,620
O A2 HE 2 HAEXIF StOtSoHA
EEINED 40,690
O NZO0HR! GHAIME SHATHEI(AI2)) 4,300
O AlZtEoiel SXIZolel & S#AHAIZ) 5,150
O A2Z0He! 23HEZH (AR 4,900
O Mgral 23« 215=0] tHal(s0t!) 2,010
O 20243 &HAl =012l 23HEY (=012 5,640
O 20243 23 5& =0t tHal(=0te!) 1,570
O 20245 ZRAE 501! JIFAZ(=0121) 3,960
O 20244 23& 20 U3/ (s0t2!) 1,810
O MOz HHSENA=HSHOISHE
tHal JH=l 10,000
o rEE=E0l £ X 10,000 10,000 0
301 2= 10,000 10,000
02 ARSI 2E AT S(FIAANS, XLETHE) 10,000 10,000
O Yoot &=&0l &X X 10,000
A2 QIRZIAE H24 HE(E) 40,000 40,000 0
= 12,000
Al 28,000
401 AlEHIZ S 0HYI 40,000 40,000 0
= 12,000
Al 28,000
01 A28l 40,000 40,000 0
O an2 22AIE E24E A 40,000
s 12,000
Al 28,000
ZHOHQIXH2F GHOIHA ZHSHED] AX] KR (& 1,429 0 1,429
& 286




SA: ABIZXID
3 ZOH SA ST(ARISX/FHAHSKE)
=?el Hojeesxd (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,143
301 EtE NS 1,429 0 1,429
=S 286
Al 1,143
02 ANRI2HHFS(HAAS, NLHE) 1,429 0 1,429
O ZOHQIXHE otOIIHA Z2HED| &X] X
= 1,429
< 286
Al 1,143
YOI F2AHSSAHHIA(RD) 735,637 379,553 356,084
= 514,946
< 44,138
Al 176,553
301 EtE NS 735,637 379,553 366,084
= 514,946
== 44,138
Al 176,553
01 Al 2E A S(EREXME) 735,637 379,553 366,084
O ZEHe F2EsAHA 735,637
= 514,946
=S 44,138
Al 176,553
LLTOHSM BUSSSHHIA(ZD) 166,120 221,927 55,807
= 116,284
= 9,968
Al 39,868
301 EetE NS 166,120 221,927 55,807
= 116,284
= 9,968
Al 39,868
01 Al EE A S (2 REXMR) 166,120 221,927 55,807
O €23y gusasAb A~ 166,120
= 116,284
= 9,968
Al 39,868
ST HEAAX(LDHE L RH2UZAH)EXIA 10,000 0 10,000
[o5]
301 2N = 10,000 10,000
02 ANBI2HHSFS(HAAS, NLHE) 10,000 10,000
O LS & 2222 &X 10,000
o CXNEEH2LZ2 A=SAMHIA K& 25,000 0 25,000
301 2eEN= 25,000 25,000
02 MBI 2HHSFHS(HAANS, XLHE) 25,000 25,000
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2A:

Ar2l = X 2t

2 ojel =X SH(ASIX/FHAHSTL)
=?el Hojeesxd (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Ooxgzzae 2= X(23,308) 25,000
ZES gLl F2 I8 111 N(2D) 119,490 0 119,490
= 83,643
= 7,169
Al 28,678
301 Let2NS 119,490 0 119,490
= 83,643
S 7,169
Al 28,678
01 ABIEEH S (SLEETE) 119,490 0 119,490
O zIS8 2L =2t 18 111 XA 119,490
2 83,643
LS 7,169
Al 28,678
XSS LY =2 OHE 111 X3(=1) 228,823 0 228,823
= 114,411
LS 22,882
Al 91,530
307 2ZH0IH 228,823 0 228,823
= 114,411
= 22,882
A 91,580
1 ARISAIMSEX 228,823 0 228,823
O 2EZ LYR0je 2t e 111 N 228,823
= 114,411
= 22,882
Al 91,530
04Ol E - A3} X2 5,221,485 4,981,647 239,838
= 2,974,867
= 589,413
Al 1,657,205
o= (=2) 2,431,761 2,350,658 81,103
= 1,702,233
= 218,858
Al 510,670
301 LetERZ 2,431,761 2,350,658 81,103
= 1,702,233
= 218,858
Al 510,670
01 Al 2FH>6IZ (R U2 E) 2,431,761 2,350,658 81,103
O Jojele=s 2,431,761
2 1,702,233
LS 218,858
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SA: AR =X
= Zoie =X &
ol Zojelelz - A

I (ALSI = XI/Z A ERIR)
SAXIE SR

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
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